
MAT 191 Quiz 1 August 23, 2012

Name: Academic Integrity Signature:
Note: Correct numerical answers without justification will receive little or no credit.

1. (5 points) The average rate of change of y = f(x) with respect to x over the interval
[x1, x2] is

Solution:
∆y

∆x
=

f(x2) − f(x1)

x2 − x1

.

2. (5 points) Compute the average rate of change for y = f(x) shown below on the interval
[−2, 0].

Solution:

∆y

∆x
=

f(x2) − f(x1)

x2 − x1

=
f(0) − f(−2)

0 − (−2)

=
−1 − 0

0 − (−2)

= −1
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